DOUBLE DOOR WALL LOCKER (DDWL)

INSTALL INSTRUCTIONS

|
OO O (KT I
0 0 % b
0 o % 0
e %@ 9% G
o oA G G0
«® o %) N
ORI W
%0 <><>‘1> 0 <><><>

2

A |
oo G % 0
o oo % G
G 0 0 00
o oo % G
o o % %
o o % )
ORI W%
o W % G
O O 1K %
0 o 9 9
o o ) G

T | /

=l =
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
wWww.STOREMORESTORE.COM

sHeeT 1 ofF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

==
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
www. STOREMORESTORE.COM

SHeeT 2 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

TOOLS NEEDED

or

RUBBER PLASTIC QUICK GRIP POWER
MALLET TIP HAMMER CLAMPS DRILL
PHILLIPS #2 COMMON N 3/8" & 7/16" 3/8" & 7/16
SCREWDRIVER SCREWDRIVER SOCKET WRENCH SOCKET WRENCH

INCLUDED HARDWARE

{ = @  (m>

N8 x .375 TEK SCREW (20)

#1/4-20 X 3/4" 1/4-20
PSCRO0O016
PAN HEAD PHILLIPS NYLON LOCK NUT(4)
MACHINE SCREW (4) PNUTO0011
PSCR0091
n ] ©)
Q A
10-24
#10-24 X 5/8"
NYLON LOCK NUT(4)

PAN HEAD PHILLIPS
MACHINE SCREW (4)
PSCR0041

PNUTO0055

=1 || =
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
www.STOREMORESTORE.COM
sHeeT 3 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
LT UPRIGHT QTY. (2) INSTALL INSTRUCTIONS BACK PANEL QTY. (1)

/- COMPONENTS

"T" UPRIGHT QTY. (1)

e

TOP PANEL QTY. (1) TOP PANEL SUPPORT QTY. (2) FRONT SHELF SUPPORT QTY. (2)

TOP PANEL
LOCKING BRACKET QTY. (4)

| \é
PUNCHED SHELF QTY. (2) I BACK SHELF SUPPORT QTY. (2)
N
J

Q

BOTTOM SUPPORT QTY. (2)

SIDE SHELF
SIDE SHELF QTY. (3) SUPPORT QTY. (6)

; sHEET 4 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS ==

COMPONENTS STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
www.STOREMORESTORE.COM

DOOR ASSEMBLY (HD2)
X
¢
00
o 4
000 @8
& 9
&0 o
G0 @
000 @8
800 )
& ||| &
00 0 O )
Ak y
000 %0 o go
& gog ¢
: & @
\\ ] O (+) &0
000 g'g
DOOR ASSEMBLY SHOWN @0
OPEN
U

GARMENT ROD ASSEMBLY
DRAWER ASSEMBLY (SD) (GT & GB)

SHeeT 5 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

STEP:1

IF NOT ALREADY INSTALLED, INSTALL THE LEVELING GLIDE KNOCK-IN MOUNTS (QTY. 4)

IN THE BOTTOM (END WITH FLANGE) OF THE "L" UPRIGHTS AS SHOWN IN FIGURE A, DETAIL B.
INSTALL LEVELING GLIDES IN KNOCK-IN MOUNTS LEAVING 1/8" CLEARENCE BETWEEN LEVELING
MOUNT, AND INSIDE SURFACE (HEX SHAPE) OF LEVELING GLIDE.

FIGURE A

1/8" CLEARENCE BETWEEN
MOUNT AND GLIDE

LEVELING GLIDE

KNOCK-IN MOUNT
I

DETAIL B "L" UPRIGHT

BOTTOM FLANGE OF

"L" UPRIGHT LEVELING GLIDE

==
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667

www.STOREMORESTORE.COM
SHEeT 6 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS
STEP:2

ASSEMBLE THE FRONT OF THE LOCKER USING QTY. (2) "L" UPRIGHT ASSEMBLIES, AND
QTY. (3) SUPPORTS IN POSITIONS AS SHOWN IN FIGURE C. INSTALL POSITION RETAINING
SCREWS (#8 X .375 TEK SCREWS) QTY. (2) PER, IN BOTTOM , AND QTY (2) FRONT SHELF
SUPPORTS, AS SHOWN IN DETAILS D AND E.

DRILL TEK SCREW INTO CENTER HOLE | || l
OF SHELF SUPPORTS, QTY.(2) PER SUPPORT ﬂl\
FIGURE C | ©
FIGURE C .
‘ m I
| © \ '
| / Al
" L" UPRIGHT ASSEMBLY
/ DETAIL D
// " L" UPRIGHT ASSEMBLY
UPPER FRONT
UPPER FRONT SHELF SUPPORT
/ SHELF SUPPORT
45.000

LOWER FRONT
SHELF SUPPORT

LOWER FRONT

[ SHELF SUPPORT

BOTTOM FRONT
SUPPORT

13.475
w
71 3/4" HIGH LOCKER WITH A 10 1/2" (BOTTOM OF UNIT)

BOTTOM DRAWER AND A 43" HIGH
CENTER "T" UPRIGHT.

[ | [ ]
=il=
USING 1/8" DIA. PILOT HOLE IN BOTTOM SUPPORT

STOREMORESTORE DRILL TEK SCREW INTO UPRIGHT AS SHOWN 2 PLACES.

Efficient Productive Storage Products

1-855-786-7667 DETAIL E
wWWwW.STOREMORESTORE.COM

sHeeT 7 oF 14




|
DOUBLE DOOR WALL LOCKER (DDWL)

STEP:3

INSTALL INSTRUCTIONS

WITH LOCKER LAYING ON ITS BACK, POSITION THE REAR BACK PANEL SO

AS THE FLANGES ARE AGAINST THE KEYHOLE FACE OF THE UPRIGHT AS

SHOWN IN FIGURE F, DETAIL G AND H. PANEL SHOULD BE JUST SHORT OF
FLUSH WITH BOTTOM AND TOP OF UPRIGHT ASSEMBLIES.

FIGURE F

"L" UPRIGHT
ASSEMBLY

BOTTOM OF LOCKER

DETAIL H

KEYHOLE FACE OF UPRIGHT \|
I

KEYHOLE FACE OF UPRIGHT

I
I
\ SIDE FLANGE OF

REAR PANEL

BOTTOM FLANGE OF REAR PANEL
FLUSH WITH BOTTOM OF UPRIGHT

/ DETAIL G

TOP FLANGE OF
REAR PANEL
FLUSH WITH TOP OF UPRIGHT

T

SIDE FLANGE OF

REAR PANEL
"L" UPRIGHT
ASSEMBLY
==
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
www. STOREMORESTORE.COM

sHeeT 8 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS
STEP:4

INSTALL REAR SHELF SUPPORTS SANDWICHING THE REAR PANEL BETWEEN THE SHELF SUPPORTS
AND KEYHOLE SLOT FACE OF THE UPRIGHT. INSTALL THE POSITION LOCK SCREWS IN THE
SUPPORTS SAME AS STEP 2, MAKING SURE TO KEEP THE BACK PANEL FLUSH WITH THE TOP

AND BOTTOM OF THE "L" UPRIGHTS AS SHOWN IN FIGURE J, DETAILS K,L AND M.

"L" UPRIGHT
ASSEMBLY

FIGURE J "
I

DRILL TEK SCREW INTO
CENTER HOLE OF SHELF
SUPPORTS, QTY.(2)

PER SUPPORT

UPPER REAR
SHELF SUPPORT DETAIL M

REAR PANELTOP FLANGE
FLUSH WITH TOP OF "L" UPRIGHT

"L" UPRIGHT
ASSEMBLY

LOWER REAR
SHELF SUPPORT

"L" UPRIGHT
ASSEMBLY
N
| BOTTOM REAR “\\
! SUPPORT ‘
\ REAR PANEL BOTTOM FLANGE
[ FLUSH WITH BOTTOM OF "L" UPRIGHT
|
|
! SIDE FLANGE OF ————
| REAR PANEL _“I_
| [ |
L STOREMORESTORE
Efficient Productive Storage Products
USING 1/8" DIA. PILOT HOLE IN BOTTOM SUPPORT 1-855-786-7667
DRILL TEK SCREW INTO UPRIGHT AS SHOWN 2 PLACES.
(SHELF SUPPORT BROKEN OUT FOR CLAIRETY) WWW.STOREMORESTORE.COM

sHeeT 9 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

STEP:5

STAND UNIT UPRIGHT, INSTALL DRAWER SUSPENSION MOUNTING (LEFT AND RIGHT) AS SHOWN
IN FIGURE N, DETAIL O. REFER TO 4POST DRAWER (SD) INSTALLATION INSTRUCTIONS,

STEPS 1 THRU 3.

FIGURE N REAR PANEL

UPPER REAR
SHELF SUPPORT

UPPER FRONT

SHELF SUPPORT \

FRONT OF UNIT

/

LOWER REAR

SHELF SUPPORT \

LOWER FRONT

SHELF SUPPORT \

DRAWER SUSPENSION ’V
ASSEMBLY (LEFT SIDE)

/ ‘
BOTTOM REAR

SUPPORT

BOTTOM FRONT
SUPPORT

L= ==
STOREMORESTORE
DETAIL O Efficient Productive Storage Products

1-855-786-7667
www.STOREMORESTORE.COM




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

STOREMORESTORE
FRONT TOP COVER SUPPORT Y :
FIGURE P (BEHIND TOP OF DOOR FRAME) Sl ?Ig%“gf;ggﬁ‘;ggg;md“m
. STEP:6 www.STOREMORESTORE.COM

TEMPORARILY INSTALL UPPER AND LOWER SHELF,
THIS WILL HELP TO SQUARE UP UNIT. INSTALL FRONT
AND REAR TOP COVER SUPPORTS.

\ REAR TOP COVER SUPPORT

DOOR FRAME
UPPER MOUNTING

\ UPPER SHELF

LOWER SHELF

DOOR FRAME ASSEMBLY

STEP: 7
ASSEMBLE DOOR FRAME TO FRONT OF UNIT STARTING

AT THE TOP AND WORKING DOWN (DETAIL Q). REFER

TO 4POST HINGED DOORS (HD2) ASSEMBLY INSTRUCTIONS,
STARTING WITH STEP 6 AND WORKING BACKWARD TO STEP 1. |

STEP: 8
REMOVE SHELVES, ATTACH DOOR FRAME BRACKETS TO SHELF

SUPPORTS (DETAIL R). REFER TO 4POST HINGED DOORS (HD2)
ASSEMBLY INSTRUCTIONS STEP 8.

1
i

|
DOOR FRAME /| L

BRACKET -

DETAIL R

sHeeT 11 oF 14




DOUBLE DOOR WALL LOCKER (DDW.L)

INSTALL INSTRUCTIONS

FIGURE S

INSTALLED IN FIRST
OPEN HOLE BELOW
SHELF SUPPORT

STEP:11

INSTALL 4POST GARMENT RACK ASSEMBLY,
SEE DETAIL U. REFER TO 4POST GARMENT
RACK ASSEMBLY INSTRUCTIONS, STEPS

l 1 THRU 5.

GARMENT RACK

[ ASSEMBLY

7

| |

—— Z

GARMENT RACK
ASSEMBLY

DETAIL U

STEP:9

INSTALL LOWER SHELF, PLACE CENTER UPRIGHT
INTO APPROXIMATE POSITION.

SIDE SHELF SUPPORTS
QTY. (6) X

STEP:10

INSTALL SIDE SHELF SUPPORTS BETWEEN

SIDE UPRIGHT AND CENTER UPRIGHT. THIS
WILL LOCATE THE CENTER UPRIGHT OVER

THE PROPER MOUNTING HOLES IN THE LOWER
SHELF. INSTALL QTY (2) #10-24 x 5/8 MACHINE
SCREWS THROUGH FLANGE OF UPRIGHT AND
HOLES IN BOTTOM SHELF, SECURE WITH QTY (2)
#10-24 NYLON LOCKNUTS, SEE DETAIL T.

#10-24 x 5/8

PAN HD. MACHINE SCREW
ATTACH W/ #10-24

NYLON LOCKNUT (2 PLACES)

==
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
www.STOREMORESTORE.COM

SIDE UPRIGHT\

CENTER
UPRIGHT ™

LOWER

SHELF \

= ___|

DETAIL T

sHeeT 12 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)

INSTALL INSTRUCTIONS

FIGURE V
) TOP PANEL
STEP:12 LOCKING BRACKET —_ |
INSTALL TOP SHELF, SECURE TO CENTER UPRIGHT USING QTY (4)

QTY (2) #10-24 x 5/8" MACNINE SCREWS AND 10-24
NYLON LOCKNUTS, SEE DETAIL W, INSTALL SIDE SHELVES.

POSITION LOCKING SCREW

N8 x 3/8" TEK \
| 0

STEP:13

INSTALL TOP PANEL LOCKING BRACKETS QTY (4),
SECURE WITH POSITION LOCKING SCREW

N8 x 38" TEK (4 PLACES), SEE DETAIL X.

TOP PANEL
LOCKING BRACKET

TOP SHELF
#10-24 x 5/8
PAN HD. MACHINE SCREW
ATTACH W/ #10-24
NYLON LOCKNUT (2 PLACES) —
| =
g i
DETAIL W

SIDE SHELF /

QTY (3)

Efficient Productive Storage Products

1-855-786-7667
www.STOREMORESTORE.COM

== =
STOREMORESTORE CENTER UPRIGHT : >

sHeeT 13 oF 14




DOUBLE DOOR WALL LOCKER (DDWL)
INSTALL INSTRUCTIONS

1/4-20 x 3/4" |— —_— —_— |
PAN HD. MACHINE SCREW
FIGURE Y ATTACH W/ 1/4-20 :
NYLON LOCKNUT (4 PLACES) |

STEP:14
INSTALL TOP PANEL, FIRST REMOVE KNOCK-OUTS IN EACH CORNER |
OF PANEL, INSERT QTY. (4) 1/4 -20 x 3/4" MACHINE SCREWS THRU |
TOP PANEL AND TOP PANEL LOCKING BRACKETS, SECURE WITH __ 10p panEL L ]
QTY. (4) 1/4-20 NYLON LOCKNUTS, DRAW NUTS TO SNUG ONLY,
DO NOT OVER TIGHTEN AND BEND TOP COVER. SEE DETAIL Z.

|
|
l
— DETAIL Z

STEP:14 gog ool

INSTALL BOTTOM DRAWER, REFER TO 0% Ogo

4POST DRAWER (SD) ASSEMBLY & ¢

INSTRUCTIONS STEP 4 AND 5. Ogo o |} < .
AR o
% <>8<> g

STEP:15 %1 &l o

INSTALL DOOR ASSEMBLYS, REFER TO N 0

4POST HINGED DOOR INSTRUCTIONS (HD2) 0

STEP 7. gog 0 :
& | il §
K g‘% S~
o s 4 | B
I ]| e 0l
0 0 0
RN % |l ¢
g 0 ¥
Ogg 080 / // :00 g
ol I S i
ogo g - i

==
STOREMORESTORE

Efficient Productive Storage Products

1-855-786-7667
WwWW.STOREMORESTORE.COM

sHeeT 14 orF 14






